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1. In forward-bias portion of the thyristor’s V-I characteristics, the number of

stable operating regions is

(A) One (B) Two (C) Three (D) None of these

V-1 U1 o ST -S198 Wi H, FR aiterTer &= shl we foha Bidi 2 7

(A) T B) @ (€) dH (D) T & 1S T
2.  The dv/dt effect in SCR can result in

(A) low capacitive charging current (B) false triggering

(C) increased junction capacitance (D) high rate of rise of anode voltage

SCR ¥ dv/dt IWTel s TRUTHEEEY g Hehd & -

(A) T anfan stmes e (B) 3muret femrfa

(C) Hafg SR g (D) UHIE e i 3= Ifg &
3.  The Snubber circuit is used in thyristor circuits for

(A) Triggering (B) dv/dt protection

(C) di/dt grotectlon (D) Phase shifting

gfehe ° W Gfche o1 39T fory fore foran ST 22

(A) ferrfa (B) dv/dtgwam  (C) di/dtHan (D) el faemA
4. A UJT has

(A) Stable negative resistance characteristics

(B) Low firing current

(C) Use as a waveform generator

(D) All of these

UITH R Baig?

(A) Teor =umeres gfadre Tored (B) T g g

(C) UM ST & €9 H IUAT (D) 3ot
5.  When UJT is used for triggering an SCR, the waveshape of the signal obtained

from UJT circuit is
(A) Sine wave (B) Sawtooth wave
(C) Trapezoidal wave (D) Square wave

SCR ferfn & fotw UIT =1 3w femam Sime, a1 UJT dfehe @ I fmer st

(A) gFa@ (B) AN a@  (C) "HeTs a@ (D) o T
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6. A power chopper converts
(A) actodc (B) dctodc (C) dctoac (D) actoac
qTeR IR SGerdl &

(A) acHdcH (B) deHided (C) dcdlacH (D) acHlacH

7.  Which of the following memory uses one transistor and one capacitor as basic
memory unit ?
(A) SRAM (B) DRAM
(C) Both (A) & (B) (D) None of these

freifera o @ fore THIG 1 ITART gHATE THI IS & &9 H Th I 9 Th
HUTHE < 9 H foparn ST @ 2

(A) SRAM (B) DRAM
(C©) (A)F(B)gHt (D) T H hIg TE
8.  Temperature variation is a/an
(A) Digital quantity (B) Analog quantity
(C) Either digital or analog quantity (D) None of these
ATET frre e 2 ?
(A) FTehid HE (B) AT AT
(C) 3IFHIT AT THATATT LA (D) ¥ 9 s &l
9. Boolean algebra is also known as
(A) Gate algebra (B) Transistor
(C) Switching algebra (D) Counting algebra
o SefUrd i g Hft had ©
(A) e sfisma (B) et
(C) feafam siemfera (D) TV SfShTiTd

10. 2’s complement of the number of 1010101 is
1010101 T 2’s Th Db A& 7
(A) 0101010 (B) 0101011 (C) 1101010 (D) 1110011

11. A light sensitive device that converts drawing, printed text or other images into
digital form is
(A) Key-board (B) Plotter (C) Scanner (D) OMR
I8 JehTST Tt ST i T1 8 S gre, fiwes eoree a1 31 B ol fefoeat w &
e ST 8 ?
(A) -9 (B) X (C) & (D) OMR
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12.

13.

14.

15.

16.

17.

First generation of computer was based on which technology ?

(A) Transistor (B) LSI (C) VLSI (D) Vacuum tube
Tget dIE oh1 She fohd Tehrieh TX STTETRA T 2

(A) TRt (B) LSI (C) VLSI (D) Tafa =@
An error is also known as

(A) Bug (B) Debug (C) Cursor (D) Icon

(e 78 Wi FEd &

(A) & (B) e (C) (D) 3EHA

Permanent magnets are normally made of
(A) Alnico alloys(B) Aluminium (C) Castiron (D) Wrought iron
TYTE Faoh AR T oheh SH B & 7

(A) TR firareg (B) e
(C) Taat Al (D) fieat e
The unit of retentivity is

(A) weber (B) weber/sq. m.
(C) ampere turn/meter (D) ampere turns
TUfteIeT ShT SohTS I R ?

(A) d (B) d&¥/sq. m
(C) Umfier /e (D) fRR T

The rate of rise of current through an inductive coil is maximum
(A) At 63.2% of its maximum steady value

(B) At the start of the current flow

(C) At the end of the current flow

(D) After one time constant

0T HETAt o GRT L o G ohl gL JTTIhad il &
(A) TEh 3TTeehad FRR T % 63.2% W (B) e YT & & 81 W

(C) 2 JaTE & THTH B T (D) T SR fRRdr & a1g
For audio frequency applications, the popular oscillator used is

(A) Wein bridge oscillator (B) Hartley oscillator

(C) Crystal oscillator (D) Phase Shift oscillator
T SR STIHARTI o T, fohe AR Gt T ST fohal ST & 7
(A) o st Sifemt (B) ®IeH gifer

(C) Tora Qiferr (D) et fereemm Sifer
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18.

19.

20.

21.

22.

23.

A diode (p-n junction) when reverse biased act as
(A) Onswitch (B) Zener diode (C) ’ Capacitor (D) Off switch
TT S BN T STNS (p-n i) foh €9 # e hear 27

(A) Ifeg (B) SEEE  (C) HufdX (D) 3% feorw

An Op-Amplifier Comparator circuit employs

(A) No feedback (B) +ve feedback

(C) —ve feedback (D) Both (B) & (C)

Op-Jaieh et Gfehe T AT 8 7

(A) H1g HBredeh &l (B) +ve fhes®

(C) —ve higsh (D) (B)a (C)aMi

Which of the following cannot actually move ?

(A) lons (B) ques (C) Electrons (D) All of these
freifera & @ shI 91 aTedd B T8 <retdT ?

(A) 3RH (B) fo3 (C) soiagE (D) Ui Tt

In RC series circuit total voltage is 10 V and voltage across resistor is 6 V, then
what is voltage across capacitor ?

RC #HS Afche T et dledst 10 V 8 3T H Fiedst 6 V 7, a1 hufied § diedst
fraar g 2
(A) 4V (B) 8V (C) 16V (D) 10V

In RLC parallel circuit, current through inductor is more than current through
capacitor, then what is the power factor of the circuit ?

(A) Lagging (B) Leading (C) Unity (D) Zero

RLC 3Tt Gfehe H, I H & Hic hURMet o Hic & AT g | @l |fche 1 Al
T[T Toha T 8 2

(A) w=rmHt  (B) 3mRmH (C) (D) =

A Delta connected capacitor bank is preferred over a Star connected bank, to
ensure

(A) Lesser capacitance (B) Easy calculation

(C) Easier connection (D) All of these

TR AT Seh hl T H Secl AMSTd hUTeet sieh ol TTATHehdl 91 HTTad i o

forg & et 3
(A) <hH g (B) AT TUHT
(C) ATEN TIASH (D) A et
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24.

25.

26.

27.

28.

29.

30.

The Superposition Theorem is obeyed by

(A) Linear networks (B) Non-Linear networks
(C) Lateral Networks (D) Trilateral Networks
AT SHY T TTe Teheeh g fohall ST 8 7

(A) g Feas (B) 3Ras Acash (C) wifvdss Jeash (D) Branfedes Jeash

The symbol used for representing independent sources is

(A) Diamond  (B) Square (C) Circle (D) Triangle
Tad "idl ol <3 o foru fong fag o1 3w feman S 2 7
(A) B (B) (C) @ (D) frg=

What should be the minimum depth (in metre) of cable trench to dug for laying
of 1.1kV?

1.1 kV fosm & foru gers it I areft see @rg 61 Teus *Eag (Het §) fhat
T =R ?

(A) 0.75 (B) 0.90 (C) 1.05 (D) 1.20

The hydel power plant of run-off river type should be provided with pondage
so that the

(A) Firm capacity of the plant is increased.

(B) Operating head is controlled.

(C) Pressure inside the turbine casing remains constant.

(D) Kinetic energy of the running water is fully utilized.

SEdl el TR o Tt Toegd T3 o 1Y TATR YgH foht ST =MfeT arfeh
(A) §I= 6l 5¢ &aal H Iig &l

(B) uftarer i w1 Frifi ferem s &

(C) <ate i % ik g fRR @

(D) W& STet shi TRt Smott <l G ST Fehaat ST deh

If the fault current is 2000 A, the relay setting is 50% and CT ratio is 400:5,
then plug setting multiplier will be

Ifg g gm 2000 A 7, fet 8f&m 50% 2 3 CT U@ 400:5 7, @ @i afén
e feheT 81 ?

(A) 10 (B) 15 (C) 25 (D) 50

The number of strands of ACSR conductor for 4-layers transmission line is
49t FR0T ATSH o TeTt ACSR =TeTeh o A ohl G Tehd1 & ?
(A) 1 B) 7 ©) 37 (D) 29

In a 3-layer ACSR conductor, if diameter of each strand is d, then total diameter
of conductor will be
3%t ACSR =TeTeh H, AfE Tdieh AR 1 &1 d B, Tl STeTeh ol el SATH TohaHT BT ?
(A) d (B) 2d (C) 3d (D) 5d
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31.

32.

33.

34.

3S.

The emf induced in a conductor rotating in a bipolar field is

(A) AC (B) DC

(C) AC & DC both (D) None of these
foga &= T g aTel =Tets § INd emf @

(A) AC (B) DC

(€) ACTDCTH (D) ¥ & hls &

Neglecting all losses, how is the developed torque (T) of a dc separately excited
motor, operating under constant terminal voltage, related to its output
power (P) ?

(A) T ocP!? (B) TP

(C) T? o P3 (D) T is independent of P.

¥l & W e e fom, gaad <fiflae diees o agd aiETerd de g Iafeid At
1 forepfird 2ieh (T) 38 3MTHeye ITaR (P) & form aig Taiferd g 2

(A) TxP”  (B) TP (C) T?«cP® (D) T,PHTEM T

Pole shoe of a dc machine is laminated for the purpose of
(A) Decreasing hysteresis loss

(B) Decreasing eddy current loss

(C) Manufacturing ease

(D) Decreasmg both hystere51s & eddy current loss

dc T3fi <1 I S,'Llehel fete eiftme fepan ST 2 2

(A) Texiifom s s w0

(B) Yo 9T &7 &

(C) Trmtor & Srrarh

(D) Teetitd & o ¥ &= 1 ohl &

Lap winding is preferred for which type of machines ?
(A) Low current & low voltage (B) High current & high voltage
(C) High current and low voltage (D) Low current & high voltage

forg g <ht TefiA o foTu ou Heett sl smerfiresdr € ST & 2
(A) = =te 9 fr= Fiecs (B) 3 H 9 3 dlecd
(C) 3= i 9 = diees (D) T e 9 3= dleed

Demagnetization effects which of the following ?

(A) Commutation (B) Reduction in main field flux
(C) Reduces the terminal voltage (D) Both (B) & (C)

freTfera o @ fopeen! forgareh SvTfora ot & ?

(A) Tewafed (B) T & %o T TeTd

(C) ZfHTet Aiees ! 1 LTl 2 (D) (B)d (C)gHt

Code No. : C-520/2018/Series-A 8



36.

37.

38.

39.

40.

41.

Which of the following is/are effects of armature reaction ?

(A) Increases the iron loss (B) Increases the maintenance & repair
(C) Increases the design cost (D) All of these

frtTfeRd H 1M |1/€ TS 3TTHTR Jd{shal 1/ 8 ?

(A) e & H g (B) TE@TE 37U H

(C) TeSiTea &rTa H gfg (D) I @t

The metric system is called

(A) CGS (B) MKS (C) SI (D) None of these
wfifesh yumrett <l hed &

(A) CGS (B) MKS (C) SI (D) T A IS &
Which of the quantity consists of SI unit as Candela ?

(A) Velocity (B) Impulse

(C) Luminous Intensity (D) Force

foreiferd o & i & AT Y ST 3hTS hreaiT 27

(A) am (B) 3Tmam (C) wdfadear (D) s

Hysteresis in an instrument means

(A) The change in same reading when input is first increased and then reduced
(B) The reliability of the instrument

(C) The repeatability of the instrument

(D) The inaccuracy due to the change in temperature

feeifg ue Suetr 2 fSrEent arcadd 2

(A) 3Ht ST § Sgetra a6 8T 8 6 319 gl @ e TSR JATdl 8

(B) 39Ul 1 Torwaer-i=ra

(C) 3UhLTT <hl g-ﬂlolc?ddl

(D) TIHM H SEATd o SRl TG

The chemical effect of the current is used in

(A) DC ampere hour meter (B) DC ammeter
(C) DC energy meter (D) None of these
i< ST TETTeh JTel fhers ST fohan Sirar 8 2

(A) DC UEfRR 31eR Hiex (B) DC UHtex
(C) DC s et (D) 8 & g 7

The most suitable primary standard for frequency is
(A) Rubidium vapour standard (B) Hydrogen maser standard

(C) Quartz standard (D) Caesium beam standard
R o TeTT T8 ITFeR TTTHh HTh i A1 & 7

(A) wfefeam amsq e (B) BIEISH HER HH®

(C) TS U (D) Hifsem &fim e

9 Code No. : C-520/2018/Series-A



42.

43.

44.

45.

46.

47.

Substances having permeability less than the permeability of free space, are
known as

(A) Ferromagnetic (B) Bi-polar

(C) Paramagnetic (D) Diamagnetic

HeRd TATY < TRITRIAT B ShH YTATRIT 9ol Uere T shaeiid & ?

(A) dregeeha  (B) fgyd (C) Fggehd (D) Wby

De-guassing is the process of

(A) Removing gases from materials (B) Removal of magnetic impurities
(C) De-magnetizing metallic parts (D) Hysteresis loss

fareror fepereh! wisRaT 2 7

(A) |Tft O Y g (B) TEhI JIGATHI Dl §&MI

(C) aTg-g=i ol fargaferd S (D) fewdtfa &=

Bohr magneton is unit of

(A) Magnetic energy

(B) Permanent dipole moment due to spin
(C) Polarisability

(D) Hysteresis loss

R W oheehl 313 & 7

(A) IehE Hl (B) & o shror 4TS fgya sl
(C) yerfira (D) feeifew &

Two different isotopes of an element have different

(A) Number of neutrons (B) Number of electrons

(C) Atomic number (D) Number of protons

foreht o o @ 191 TmEenfehi | T Bt 8

(A) =g Sl TE&T (B) il Shl TE

(C) RETY] S (D) et i T

Which of the following material is commonly used for making magnetic
recording tape ?

(A) Ferric oxide (B) Siliconiron (C) Iron dust (D) Iron

freifera & & form ammaft 61 ST TR W gaehiy fepfé eu s & fotw feman

ST e ?
[aNl aN N

(A) it TFEEe(B) faferd @ET (C) @R ®T e (D) @rgl

What is the angle between the pole and stay ?

Uil & € % o1 Tohd=T hIvT BT 2 2
(A) 30° (B) 45° (C) 60° (D) 10°

Code No. : C-520/2018/Series-A 10



48.

49.

50.

51.

52.

3.

How many earth connections are required for the motor frame as per the

IE Rule-61 ?

(A) One (B) Two separate and distinct
(C) Three separate and distinct (D) All of these

IE T 61 o 3TTER HIX 31 o ToTC, foha YITSTehl <h! STTEeeehdT B & 2

(A) T (B) < 37em 3R farfsre
(C) i 37er 3R fafars (D) A et

How is the ballast resistance connected with the choke ?

(A) Parallel (B) Series

(C) Can be connected in either way. (D) Both (A) & (B)
SR Tty Fiek 9 fohd Tg T &l & 2

(A) WA (B) Hi=

(C) Tt i T @@ gsaia | (D) (A)d (B)eHi

What is the specification of GI earth plate ?

GI 319} wie w1 farfrientor om & 2
(A) 60 cm x 60 cm x 3.5 mm (B) 60 cm x 60 cm x 6 mm
(C) 60 cm x 60 cm x 1 mm, (D) 60 cm x 60 cm x 5.2 mm

Which type of cable does not require bedding ?
(A) Paper insulated lead covered cables

(B) PVC cables

(C) Both (A) and (B)

(D) None of these

feh®l g o helcl T TGl <hl STTa¥ehdl &1 Bl ?

(A) YR Tferd ote STrafia sheae (B) PVC %ad
(C) (A)d(B)gHi (D) $TH & HIE &I |
What is the maximum distance between the two successive cleats ?

Tl IR FeATe o o Tfeshad g Fohat el 3 2
(A) 0.25m (B) 0.5m (C) 09m (D) 1.25m

Spot welding is used to weld metal pieces whose thickness
(A) Should be greater than 12 mm (B) Lesser than 12 mm
(C) Lies between 15 to 20 mm (D) Greater than 20 mm

ferct TIETE & &Tq o Zohe ol deg i o fotu waie afegn i St g 7
(A) 12 mm ¥ 3feres g1 = | (B) 12 mm ¥ &H 81 =113T |
(C) 15820 mm &= | (D) 20 mm ¥ 31 |

11 Code No. : C-520/2018/Series-A



54.

5S.

56.

57.

58.

59.

A low frequency supply is given to the single phase AC system for track
electrification because

(A) It improves commutation (B) Increases efficiency

(C) Improves power factor (D) All of these

<o TaregeiiehtoT < ToTu Tohet et AC Toeed ot T 3 S1mafd € St & ifeh
(A) 798 fogfEd e ame | (B) q&dl Sedi g |

(C) ifekt Toreh SigaT § | (D) g

Which among the following is mechanical braking ?

(A) Pneumatic braking (B) Plugging

(C) Dynamic braking ’ (D) Regenerative braking
freTfohd © & 19 &1 AR SifhT 3 2

(A) —ghfes dfeh (B) wAfim (C) Ticrehi™ ikt (D) gA=TST SifehT

Three phase induction motor is not suitable for traction purpose because

(A) Low starting torque (B) High starting current
(C) Constant speed operation (D) All of these

SN IL oh ToTC <fiF1 st ST Yt e & ardl Aifeh

(A) T st efsh B 2 | (B) 3= I 2 &A1 § |
(C) Fad T E<Te g & | (D) I @t

The normal voltage used in directional heating is

fefarer M= & "= Ao fohdHT ST fepan SITaT 8 ?

(A) 1.5kV (B) 15kV (C) 33kV (D) 66kV
In an arc furnace, the choke is provided to

(A) Improve power factor (B) Stabilize the arc

(C) Reduce the surge severity (D) All of these

317k Wt & =ivep fopg forw feam sman 27

(A) TfoR T[UTeh SEAR i (B) 31T fOR &

(C) wEif mefiTen ot &0 (D) A et

If rated dc voltage is applied instead of ac to the primary of a transformer
(A) Secondary of transformer will burn

(B) Primary of transformer will burn

(C) Secondary voltage will be excessively high

(D) There will be no secondary voltage

Ife fhel TTEHTR & JT3H & ac shl T8 T4 de ieest o™ oY dt
(A) TTEHIH T Behe STet ST (B) TG Sl IEHE ST ST
(C) THel dicedt ITARBIF BN (D) IS Tehstl dlees &l anml
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60.

61.

62.

63.

64.

65.

A transformer with an output voltage of 4200 V is supplied at 230 V. If the
secondary has 2100 turns, calculate the no. of primar% turns.

4200 V 3A132YL dlees dTel ZEBINT sl 230 V &t i STt 7 | Afe aepedt §
2100 B &, 1 JT3H8 B hl TUHT L |
(A) 115 (B) 125 (C) 135 (D) 145

The hot resistance of the filament of a bulb is higher than the cold resistance
because the temperature coefficient of the filament is

(A) Negative (B) Infinite (C) Zero (D) Positive .
g%ager T o1 awd YAl 31awd Tfaleg & 3T(4eh g1 8 Fifeh g ol ard T[T

(A) Ffes (B) 3Fd (©) & (D) itsted

A single phase A.C. voltage source has 200 V rms and a system connected
consumes an active power of 300 W. What is the reactive power consumed by
the system if 2.5 A rms current is drawn ?

Tehal Bl A.C. Fiedst |1d H 200 V rms & 3R 399 1 fr&ed 300 W o |lishT q1aX
& GUd R 8 | TE 2.5 A rms HLe o T &, i faeen gra fera wfaemd wrfer
HEITHITE B ?

(A) 100 VAR (B) 200 VAR (C) 300 VAR (D) 400 VAR

Which of the followings can produce maximum induced voltage ?

(A) 1A DC current (B) 50A DC current

(C) 1TA,60c/s AC current (D) 1A,490 c/s AC current
fretifeRd | & b @1 31fehay I diedst el L TehdT & ?

(A) 1A DC e (B) 50A DC &

(C) 1A, 60c/s ACHE (D) 1A, 490 c/s ACHE

In a series RLC circuit, if the frequency is less than the resonant frequency, then
(A) Circuit is capacitive. (B) Circuit is inductive.

(C) Circuit is resistive. (D) No effect

RIS RLC |fhe § A 3T TG 3T € A &1, dl

(A) Tfhe aTiiar® | (B) Gfhe TH 7 |

(C) Hfche ufeieft 2 | (D) IS IHTE &l

The conductivity of a metal is determined by

(A) The no. of valance electrons per atom.

(B) The electrons concentration and mobility of the electrons.
(C) Both (A) and (B).

D) None of these.

9ITq <hl ATTehaT ol LRI foherdl foham SITaT & 2

(A) Sfef ETY Set=d SIFZH h T
(B) Soiaig TehgUl 3T Setag hi Tiafterdr
(©) (A)¥ (B)gHI
(D) 78 & 1S T
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66.

67.

68.

69.

70.

71.

72.

A superconductor may be used for generating

(A) Voltage (B) Pressure

(C) Temperature (D) Magnetic Field

T 9T S o foTu SAferametes 1 =mT foham ST 8 2

(A) dlees (B) TW (C) a9 (D) ThId &
Increase in percentage of carbon in carbon steel reduces

(A) Resistivity (B) Coercive Force

(C) Permeability (D) Retentivity

e LA H HTe ol Ifawrd de- 8 =1 gdi g ?
(A) Sfeigesar  (B) T s« (C) TRt (D) YT

The magnetic field required to reduce the residual magnetisation to zero is called
(A) Retentivity (B) Coer01V1ty ©) Hysteres1s (D) Saturation

AT Feeh ol I Teh T oh (1T, STTATAH JeehId &1 FIT halTdl @ ?
(A) groftaar (B) fmfean (C) fe=eife@ (D) @@

A transformer transforms

(A) Voltage (B) Current

©) Voltage and current (D) Frequency

STAHTH fehEen! SgetdT & ?

(A) dlees (B) e (C) A aHE (D) FGM

In a power transformer, the core loss is 50 W at 40 Hz and 100 W at 60 Hz,
under the condition of same flux density in both cases. The core loss at 50 Hz
will be

qiel SEHER U, R &F 40 Hz W 50 W a 60 Hz W 100 W 8, SF1 A9l 3 JHH
T T <hi TRf o @8d 50 Hz T R & fehaHT g ?

(A) 64 W (B) 73W (C) 82W (D) 91 W

In a transformer, the primary ampere turns are counter balanced by

(A) Secondary ampere turns (B) Primary Flux

(C) Increase in mutual flux (D) Increase in secondary current
TTEHTR §, YAt TR % @i foham ufa dqfora febam SmaT 8 7

(A) TFHed THfRR H (B) WTSH{ oTerd

(C) 39t wrerd | gfg (D) Eehsll e 1 gig

The voltage regulation of a transformer having 02 % resistance and 05 %
reactance, at full load, 0.8 power factor lagging is

9uf WR, OS%%dQ'IﬁFJUIOhW{OZ%EIﬁﬁH 05 % ST STt ZRAHTH 3l Al
?
(A) 4.6% (B) —4.6% (C) —1.4% (D) 6.4%
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73.

74.

75.

76.

77.

78.

A single phase transformer has a maximum efficiency of 90 % at full load and
unity power factor. Efficiency at half load at same power factor will be

U7 YR 3TR Teheh 7Tk T[0T TX Tehdd el JIABTHL <hl 3TTreha® &adT 90 % &t & |
et wiferd TUTeh IR 314 IR W g fohat gt ?
(A) 867%  (B) 8826%  (C) 889% (D) 87.8%

Grain oriented laminated sheet steel in a transformer reduces
(A) Copper Loss (B) Eddy current loss
(C) Hysteresis Loss (D) None of these
TG T YT 3@ TiHee fie Tiet a1 o i & ?

(A) s & (B) WeRumem (C) feeifmem (D) o8 9 s = |

The windings used in a 03 phase shell type transformer is type.
(A) Circular (B) Cylindrical (C) Sandwich (D) Rectangular
03 % e <159 AT H T HEai! ohd FehW <hl Bt & 7

(A) SRR (B) SeM®hR  (C) #Hefa= (D) 3TFATHR

Two transformers when operating in parallel will share the load depending
upon which of the followings ?

(A) Magnetising Current (B) Leakage Reactance

(C) Per unit impedance (D) Efficiency

YeTet | EETTeId & %I Fiifehd 0 & fepteh 3R 0t WK |Tei il 2
(A) Fafhd B (B) &u1 yferama

(C) it e wicrsmen (D) <&

Stray losses in an electrical machine are sum of
(A) Iron and mechanical losses (B) Copper and Iron losses
(C) Copper and mechanical losses (D) None of these

Torgga wisfi= o Srafed & fehaeh AT & 7
(A) drer 3R AR & (B) e 37 gt &
(C) e 3R ARl & (D) 3T | 1 Tl

The teeth in an armature of a DC machine are sometimes skewed. This is done
to reduce

(A) Hysteresis loss (B) Copper Loss

(C) Eddy current loss (D) Vibrations

DC 93 H AR < <id it —amefi foom 81d 2 | 918 <1 o1 ot o6 T fopan S 2 7
(A) Te=ifom e (B) dren e (C) yRam e (D)
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79.

80.

81.

82.

83.

84.

An 8 pole DC generator has a single wave wound armature containing 32 coils
of 6 turns each. The flux per pole is 0.06 Wb. If the generator is running at 250
RPM, the induced armature voltage will be

8 g DC ST H Yoo 6 %l 32 Hell dTal Uehel qUT Heferd JHAL BT 8 |
ufd 4 FoteE 0.06 Wb B | Ife ST 250 RPM T =ie T&1 &1, dl Uit ST et
fepern g1 7

(A) 96V (B) 192V (C) 384V (D) 768 V

In a DC machine, the no. of mechanical and electrical degrees will be same
when the no. of poles in the machine are

DC wefi o, ekt 7 foega feuft 6t v 9 a9 gt Sta wefiA o g 6t g gl

(A) 4 (B) 2 C) 8 (D) 1

The output indicated on the name plate of any motor is always the

(A) Gross power (B) Power drawn in kVA

(C) Power drawn in kW (D) Output power to shaft
fopeft oft HieT <hl 17 weie W 3Hfehd 1YL AT &IaT &

(A) Hhel TTa (B) kVA ¥ foram mam urer

(C) kW H foFarm T urar (D) 3% < T T 3A1SYE UTa
The efficiency of a DC motor when developing maximum power will be about
(A) 100 % (B) 50 %

(C) Less than 50 % (D) More than 50 %
rfereham qrer & fAmior & Tu DC HieX 6t gerd e fehat gt ?

(A) 100 % (B) 50 % (C) 50%T®HA (D) 50 % & 31ferh

At 1200 RPM, the induced emf of a DC machine 1s 200 V. For an armature
current of 15 A, the electromagnetic torque produced will be

1200 RPM W, DC H3fi9 1 Id emf 200 V2 | 15 A o =R i b foTu, Icarfed
T geehI <feh TehaHT &ITT ?
(A) 238Nm  (B) 238Nm  (C) 2000Nm (D) 3000 Nm

The efficiency of a DC series machine cannot be determined by Swinburne’s
test as

(A) A series motor has very high starting torque.

(B) A series motor draws an excessive current from the supply mains on no load.
(C) A series motor runs at dangerously high speed on no load.

(D) All of these

DC =it aefa =t geran feama udteror @ feffca T2 < S et w=ifs
(A) st gret o g Jfereh TEATA b BieT B |

(B) #HI HIet [ YR W Y&T A & 7T i oIt & |

(C) ?iﬁﬂﬁﬁ?ﬁwmmﬁﬁmaﬂ?ﬁél

(D)
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8S.

86.

87.

88.

89.

Three phase alternators are invariably connected in Star so as to
(A) Reduce the size of stator conductors used.
(B) Increase the terminal voltage.

(C) Reduce magnetic losses.
(D) All of these

7 ST 3Teetet BHN R 1 9 &d & difh
(A) eI T ATeTehi ol 3TThHR Y &l Aeh
(B) ZfHact diees 9¢ U

(C) T &7 A &l Feh

(D) I ot

The armature reaction effect in a synchronous machine depends on
(A) Load Current (B) P.F. of the load

(C) Speed of the machine (D) Both (A) and (B)
qoTehTett TR B STTHeR Sfdfshar yame foha ot et s g 2

(A) IR HE (B) WRHIP.F.

(C) weft St ity (D) (A) 3T (B) G

Synchronous motors generally have

(A) Salient pole rotor

(B) Smooth Cylindrical rotor

(C) Either salient pole or smooth cylindrical rotor
(D) None of these

IR HIet H STHAR W T &

(A) FHAd ¥d UK

(B) ety SRR Tex

(C) Tgad ga a1 fHaie SeHmehR T

(D) T & g T

A 10 pole, 25 Hz alternator is directly coupled to and is driven by 60 Hz
Synchronous motor. What is the no. of poles for the synchronous motor ?

10 ¢4, 25 Hz 3TeeH 60 Hz qeaehlelt TIet & Y Jfiq 3 3R 399 =1ferd 2 |

AT HIZL o TeTu gl sht wedn fohei @ 2

(A) 48 (B) 12 (C) 24 (D) 16
Variation in DC excitation of a synchronous motor causes variations in
(A) Speed of motor (B) Power factor

(C) Armature Current (D) Both armature current and P.F.
el Hiet 3h DC Iaiei | fir=Tar fore firmrar ey et 2 7

(A) T H Tl (B) Iferd TUTeh

(C) AR L (D) =R e 9 P.F. I
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90.

91.

92.

93.

9.

The phenomenon of oscillation of the rotor of a synchronous motor about its
equilibrium position corresponding to new load on sudden throwing off or
increase of load is called

(A) Swinging (B) Crawling (C) Hunting (D) None of these
319 AT Fef R gerehTet! HIe o UL o Gt oh TTTereHT 91 hgalTd! & Sif 3T
sigelfud o U R a1 YR % 91 ¥ ggHefua 2 ¢

(A) @ (B) fom (C) e (D) 37 ¥ HTS T

A Reluctance motor

(A) Is a self-starting motor.

(B) Runs at constant speed

(C) Needs no DC excitation for its rotor.

(D) Starts as an induction motor and runs as a synchronous motor.

gfaery AieX

(A) 9 g It AR g |

(B) Hadd i T el & |

(C) 39 UL o TI¢ DC IS i AT9FhT 781 aidl |

(D) IXoft HYeT o €9 T & Bl § 3T Jeehlefl A1 & &9 H Fefd 2 |

The rotor of a Stepper motor has

(A) No Winding (B) No Commutator

(C) No Brushes (D) All of these

WO A o Y H

(A) IS Feelt T8 gt (B) i3 fesafiade &1 gl
(C) hIE i1 T&i Brefm (D) ¥&sh

In an induction motor, if the air gap is increased, then

(A) TIts speed will reduce.

(B) Its efficiency will improve.

(C) Its power factor will reduce.

(D) Its breakdown torque will reduce.

oft "ot |, Jfe 9y STaud 5@ 9T,

(A) 3Eeh Tfd T A | (B) 3HhI c&IdT &g SIU] |
(C) THHIARE OB FA B SMEN | (D) THHT HsTeh 2ok T ST |

The slip of a 400 V, 3 phase, 4 pole, 50 Hz machine running at 1440 rpm is
1440 rpm W T T 400 V, 3 &, 4 ¢4, 50 Hz 93fiA 6 feeta 8

(A) 6% (B) 5% (C) 4% (D) 3%
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9s.

96.

97.

98.

99.

The frequency of rotor current at standstill is equal to

(A) Zero (B) 2f ©) f (D) 3f
form W et e 6 AT Fordeh ST B 8 ?
(A) = (B) 2f ©) f (D) 3f

In a double cage induction motor, the inner cage has

(A) High resistance and high leakage reactance.

(B) High resistance and low leakage reactance.

(C) Low resistance and high leakage reactance.

(D) Low resistance and low leakage reactance.

Tt Tusr SRt wiet |, offad) fos o g @

(A) SE g 9 3= T gfaemd (B) 3= fatg 9 f= T wfaema
(C) F=a vl a= fam ufqaa (D) = gty 3 f= feama gfoema

The speed of a 3 phase slip ring induction motor can be controlled from the

rotor side by

(A) Changing the supply voltage (B) Changing the supply frequency
(C) Rheostatic control (D) None of these

3 U feera T IRoft Hiex =1 fopdeh grr UeX |rgs & it fopam S wepar 2 2

(A) 3L Fiedst TEeTeht (B) 3MYf TR SEeieht
(C) wmrfreses = (D) 3T & 1S T&

Capacitor start and capacitor run motors are used in

(A) Hoists (B) Rolling mills (C) Mining (D) Refrigerators
HUTHe WIé 3R HUTHeT T Hiet 1 TN feped ferarm ST & 2

(A) IAeH (B) Ufemfiew (C) @™ (D) X

The function of steel wire in an ACSR conductor is to
(A) Compensate for skin effect

(B) Take care of surges

(C) Provide additional mechanical strength

(D) Reduce inductance.

ACSR 9TeT%h § et o R %1 13 91 811 8 ?

(A) == 9T i gfegfd = fora

(B) W ol & T

(C) 3nfafear anfeht erwar YgM w

(D) IThdT hH
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100. The string efficiency of a string of suspension insulators is dependent on

(A) Size of the insulators (B) No. of discs in the string
(C) Size of tower (D) None of these

fretar getex fedm st feam qeran fopa wr feft et 2 2

(A) THOIR % THR (B) T 4 fews 6 g

(C) TTEX HT IATHR (D) 0 9 His &l

101. Which one of the followings does not have an effect on corona ?
(A) Spacing between conductors ~ (B) Conductor size

(C) Line voltage (D) Length of conductor
frifend o & forgent TaTe SHIAT W &1 2t ?

(A) TTeTehi o S A (B) dTeTh TR

(C) < dieed (D) =Tcteh Sl AETg

102. When a fault occurs in a high voltage transmission line, first
(A) Circuit breaker operates and then relay
(B) Relay operates and then the circuit breaker
(C) Relay operates and then successively the isolator and the circuit breaker
(D) None of these

I diedsl EMHYE o3 3 @O 8 W, Jod uget

(A) Ffche SRt Titaford grar & 3R ot fiet

(B) et witanfera 2 & 3K foht wfehe siet

(C) Tt ufcanfera gran & 3t foRt v | gurfersr 3k dfehe sa

(D) T8 & 1 Tal

103. Which motor should not be used in centrifugal pump ?

(A) Shunt (B) Series

(C) Cumulatively compound (D) Differentially compound

3TTohg! U9 H Tohe T b1 ITAT & foban ST =fee 2

(A) I (B) W (C) @=rft3Aifie (D) faufea ifies
104. For quick reversal, the motor preferred is

(A) DC motor (B) Squirrel cage induction motor

(C) Slip ring induction motor (D) Synchronous motor

g ST o foTu, fore et hi STkl 41 ST @ 2

(A) DC HieX (B) Tusrt Sroft wex

(C) feeta T Jaoft mvex (D) qeIehlcil HIX
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105. In an electric press, mica is used
(A) For induction heating (B) For dielectric heating
(C) As an insulator (D) For improvement of P. F.

ferega S ), TTgeRT o1 ST fekarm SiTaT B
(A) ST a9 % forg (B) AT o feTu
(C) SHoRX (Ugh) & &4 H (D) P.E. F % fore

106. The power factor at which the direct arc furnace operates is
(A) Low lagging (B) Low leading (C) Unity (D) High leading
wifet Toreh X Eieft 31reh W wfEord B & 9E 8
(A) M= qgemft (B) = smamdt (C) (D) 3= 3T

107. An advantage of PMMC instruments is that it
(A) Is free from friction error
(B) Has high torque to weight ratio of moving parts
(C) Has low torque to weight ratio
(D) Can be used on both AC and DC
PMMC 39hTTI 1 & I8 & b I8
(A) U IR AR R |
(B) W':E?de{ 2Teh | WK BATE |
(C) T idh @ IR U BT 2 |
(D) AC g DC gHI o 3U=HT fehalt ST &b 2 |

108. Dynamometer type wattmeter are suitable for

(A) Both AC and DC circuits (B) Only AC circuits

(C) Only DC circuits (D) Only high voltage AC circuits
2139 dieHIe fohdeh foTu 30 & 2

(A) AC 4 DC Tfde g (B) aet AC Tfehe

(C) s DC |fshe (D) hact 3= dicest AC Hiche

109. Which of the following effects can be caused by a rise in the temperature ?
(A) Increase in MOSFET current
(B) Increase in BJT current and decrease in MOSFET current
(C) Decrease in MOSFET current
(D) Decrease in BJT current
AT | i | FATfoRd o & 91 TTa 81 Hehell & 2
(A) MOSFET % H g
(B) BIT =g 1 gfg 3R MOSFET g 1 i
(C) MOSFET & 1 firrae
(D) BIJT %2 H firmee

21 Code No. : C-520/2018/Series-A



110. An increase in the base recombination of a BJT will increase
(A) The common emitter DC current gain, f3.
(B) The breakdown voltage, BV .

(C) The unity gain cut off frequency.

(D) The transconductance, gm.

BIT & 3R G&SH # gfg & #= gfg grft ?

(A) T 3c8sish DC hie A, B. (B) WSeh dleed, BV ..
(C) ohTs A 3Tash S (D) STETARAT, gm.

111. Negative feedback in an amplifier
(A) Reduces gain
(B) Increases noise
(C) Reduces gain and bandwidth
(D) Increase frequency and phase distortions

Yot # ffea Figds
(A) AT HHHLATR | (B) WHIg A7 |
(C) Ty adefoga A aas | (D) AR & sl foequ § gfg iz |

112. An ideal Op-amp has which of the following characteristics ?
313t Op-amp B F=ATfeRd & & =19 &1 Jured BT 8 2

(A) Rj=o A, =00 Ry=0
(B) R;=0 A, = Ry=0
(C) Rj=w A, = Ry =
(D) R;=0 A, =0 Ry=

113. For the circuit shown below, the output (F) is given by

=t fou e mfhe ©, 3T=eye (F) i fopad g mn g 7

P a—

(A) F=1 (B) F=0 (C) F=X (D) F=X
114. The 2’s complement representation of 17 is

17 T 2°s ek TH&qur R 3 7

(A) 01110 (B) 11110 (C) 101111 (D) 10001
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115.

116.

117.

118.

119.

120.

The minimum no. of 2 to 1 multiplexes required to realise a 4 to 1 multiplexer is
49 | AeEIaR T i oh fTT STTawIeh 2 ¥ | Hodiwiod shi =J7aH &I F91 8 7

(A) 1 B) 2 <) 3 (D) 4

Which is the important factor in the steady state characteristics of a MOSFET ?
(A) Current gain (B) Transconductance

(C) Output resistance . (D) Drain source voltage
MOSFET =l &R 7ere1 urersf # shi &1 Hgeaqul 5eeh & ?

(A) HE Ay (B) SATr=TeThl

(C) 3T=eqe ufatig (D) Trsiféa ia dieest

On firing an SCR, the gate pulse is removed, the current in the SCR will

(A) Remains the same (B) Immediately falls to zero

(C) Riseup (D) Rise a little and then falls to zero
SCR &M W, T T€ &l &M= T 7, dl SCR | i

(A) €& | (B) T I 3T ST |

(C) =M | (D) eirgl @3 37 fT v 3 e |
The snubber circuit is used in thyristor circuits for

(A) Triggering (B) dv/dt protection

(C) di/dt protection (D) phase shifting

TSfEeT Tiche H e Afehe 1 39T fopd foru femar Srar 2 2
(A) ferrfa (B) dv/dtgwam  (C) di/dtHam (D) hell faeme

UJT is known as
(A) A voltage controlled device (B) Current controlled device

(C) Relaxation oscillator (D) None of these
UJT ! 9% ft shed &

(A) dieest FHafra 3ushto (B) wie Frafa et
(C) foenfa o= (D) 98 @ IE &

A three phase to three phase cycloconvertor requires

(A) 18 SCRs for 6 pulse device (B) 36 SCRs for 3 pulse device
(C) 36 SCRs for 6 pulse device (D) None of these

T St T < ot TTgFAT-hra el B Tohmehl 3TTarv=rshal Bicfl 2 2

(A) 6 TG 3UHT o fTT 18 SCR (B) 3 Tg 39U = feTt 36 SCR

(C) 6TEITRIH W36 SCR (D) T U HIE &I
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121. Which of the following were the most standardized products of the Harappans ?

(A) Bricks (B) Pottery (C) Statues (D) Terracottas

7 5 € S |1 gSwTaTE! 1 Faiieh HHehiehd 3ca1g AT ?

(A) £ B) fagswdr (C) wfd (D) &HIEt
122. Who was referred to as Vrishala and Kulahina ?

(A) Ashoka (B) Bindusara

(C) Kunala (D) Chandragupta Maurya

forel g T FHeTEH el T E ?
(A) s@w (B) fgEm (O) F (D) e

123. The well-known ancient physician Charaka was a contemporary of
(A) Nahapana (B) Sri Satakarni (C) Kanishka (D) Rudradaman-I
T =hTeT o foREATa e =k fohteh THehTet o 7

(A) -TETul (B) #fiwmaewefi  (C) Hish (D) %gamH-1

124. Which dynasty emerged at the close of the eleventh century ?

(A) Pala dynasty (B) Gurjara-Pratihara dynasty
(C) Rashtrakuta dynasty (D) None of these
TG YdTec! oh ITUY H I 91 931 IW ?

(A) T (B) TS-WIdER & (C) g s (D) T4 © g TE

125. Which Sultan of Delhi laid the foundation of a permanent standing army ?

(A) Qutbuddin Aibak (B) Balban
(C) Alauddin Khalji (D) Ibrahim Lodhi
feeett < forg garar o wwTe e st <hi fia it 2
(A) FoIEH TTh (B) et
(C) IFIATSHEN GeAall (D) STEM At

126. Which of the following Peshwas wanted India to be a Hindu Pad Padshahi ?
(A) Baji Rao-I (B) Balaji Vishwanath
(C) Balaji Baji Rao (D) Madhav Rao
fora o <6t St oft fo v we fég e eamdt = 2
(A) ST TE-1 (B) STeATSH fergemry
(OREISIEIEIEIRE] (D) W T
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127.

128.

129.

130.

131.

132.

Dayanand Saraswati used Hindi for his preachings and writings, under the
influence of

(A) Keshab Chandra Sen (B) M.G. Ranade

(C) Raja Rammohan Roy (D) Swami Vivekanand

ToR&eh TYTE & HIUT IS AT = 319 T GUT 0@ H Tadl 1 39 fopam ?
(A) g T (B) TH.S. TR

(C) TSI THHIEH U™ (D) @t ferererTg

Who was the President of the Indian National Congress in 1927 at its Madras
Session ?

(A) Mahatma Gandhi (B) Subhash Chandra Bose

(C) M.A. Ansari (D) Motilal Nehru

1927 T HgTE 9 o S TR T THT HUY & AT i 9 2

(A) Herea el (B) W EgeE (C) TH.U M (D) Hided 18%

The earthquake wave which passes through the core of the earth is the
(A) Primary (P) wave (B) Secondary (S) wave
(C) Surface (L) wave (D) Longitudinal wave
g Yl AT ST gt % hig & IR fHeherd! & -

(A) ek (P) a@t (B) fgciteres (S) @t

(C) &l (L) a (D) 3reed au

Roaring Forties and Furious Fifties are related to the

(A) Trade Winds (B) Planetary winds

(C) Westerlies (D) Polar winds

T3 wifes” qu “wferd s Hefed & -

(A) SO 9eH 1 § (B) Y-vedd 9ol §

(C) U=al yeHi 9 (D) g™ gl &

Which of the following ocean currents belongs to Indian Ocean ?
(A) Agulhas current (B) Labrador current

(C) Canary current (D) Antilles current

= 1 9 o i veEriiE g fée AeMrR @ gefta 2 2
(A) UM gl (B) TEMERYW  (C) g (D) T<iad 9

The soil that occurs in coniferous forest region is
(A) podzolsoil (B) laterite soil (C) alluvial soil (D) black soil

IHYRT T &A1 § S 1ol JaT & -
(A) M@ qG  (B) @RI (C) F@gga (D) Hiel qq
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133.

134.

135.

136.

137.

138.

139.

The most important factor which affects the distribution of population is
(A) climate (B) soil

(C) relief (D) socio-economic factors
SITEET TRt <l gt shid aTelt SAfd-Hawaqul oo @ -

(A) SfeTery (B) Hal

(C) q-3Thfd (D) |- 31T Teeh

Nokrek is the highest peak of the
(A) Mlklr Hills (B) Garo Hills (C) Khasi Hills (D) Jaintia Hills

"|I°h{°b I°h{‘|°bl {‘I®|H ST ‘C{Idl % 7

(A) Tfe werfeal (B) T werieai (C) @ werisal (D) Sifaen vgrieat

Which of the following rivers is a tributary of the Ganga on its right bank ?

(A) Son (B) Ghagara  (C) Ramganga (D) Gandak
T 1 9 o i 7<) T h 3Tk < ®R W HEEe A § 2

(A) 9 (B) ©T (C) WM (D) TUEH
All the following states have important iron ore fields, except :

(A) Andhra Pradesh (B) Madhya Pradesh

(C) Maharashtra (D) Tamil Nadu

oft TS § HEU cilg ST & |, :
(A) YT (B) TS TS (®) ﬂ‘s’ll'rg (D) TS

Which of the following States does not have tea plantations ?
(A) Uttar Pradesh (B) Himachal Pradesh
(C) Madhya Pradesh (D) Tamil Nadu

fre o fopm T2 © =1 o anfi=r 8 8 2

(A) IR I (B) Teameiwem (C) #= wew (D) dfierTg

Which of the following places is not the centre for manufacturing aircrafts ?
(A) Koraput (B) Lucknow (C) Bengaluru (D) Adampur
frafefaa ® @ % a1 we arqHE fmir T2

(A) PR (B) TGS <C) W (D) AR

The State Financial Corporations have given assistance mainly to develop

(A) agriculture farms

(B) cottage industries

(C) medium and small scale industries

(D) large scale industries
%%@f%ﬁﬁ%ﬁ?ﬂﬁ%%ﬁmﬁﬁ%ﬁﬁ g1 < STl @ ?

(A) Y B (B) R 3

(C) T e 7T o 3 Feih (D) = UHH o I
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140.

141.

142.

143.

144.

By eradicating poverty who wished to ‘wipe out every tear from every eye’ ?

(A) J. L. Nehru (B) Rabindranath Tagore
(C) Indira Gandhi (D) None of these

RIS 1 I Lok fohdeh! $Ta1 oft foh “Tieh 31T@ | Toeh 3T st S 2
(A) 91.Td. & (B) TW=A1Y &R

(C) sfeu et (D) ¥ | s T8l

The term ‘Smart Money’ refers to

(A) Foreign country (B) Internet banking

(C) US dollars (D) Credit cards

‘F:ﬂé il 9a 'g Flﬂﬁ % :

(A) foesft e (B) gewie Sfeb

(C) 4.TH. BleR (D) whige higd

Which of the following is the major sources of Gross Tax Revenue for the
Government of India ?

(A) Income tax (B) Corporation tax
(C) Customs duty (D) Service tax
71 o ¥ shF |1 YA TR o ToTT et L Teiedl ol T&F 1d & ?

(A) IR (B) frm e (C) @My (D) AT

The new National Food Security Mission (NFSM) aims at ensuring adequate
supply of

(A) rice, wheat, pulses (B) rice, cereals, wheat

(C) wheat, cereals, pulses (D) rice, cereals, pulses

T UE @ e fimm (NFSM) s ater . hl vt 3aTgfd giafead s g |
(A) =Tad, g, e (B) =@, 9, g

(C) g, °M, qred (D) =, oM, &t

Functions to be assigned to Panchayats by 73" Amendment of the Constitution
are mentioned in

(A) Tenth Schedule (B) Eleventh Schedule
(C) Twelfth Schedule (D) Thirteenth Schedule
734 Gfga™ FeNes g1 99Ial ol € T e i ¢ -

(A) gEell g | (B) vl gt |

(C) wred gt & (D) et i o
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145.

146.

147.

148.

149.

Who considered the Right to Constitutional Remedies as very ‘heart and soul’
of the Indian Constitution ?

(A) M. K. Gandhi (B) J. L. Nehru

(C) Dr. B. R. Ambedkar (D) Dr. Rajendra Prasad

=1 o 9 fope guTieh 3T % SATYURR I WRATT |99 1 TCT AT AT

TARTE ?

(A) TH.. T (B) 3.TA. 8®

(C) . o3, gt (D) . Tolg J91g

The Department of Atomic Energy is under the administration of

(A) Prime Minister’s Office (B) Ministry of Science and Technology
(C) Ministry of Power (D) Cabinet Secretary

TCATY] St feremT TRk SroTre | ST 2 7

(A) aH-T=f R (B) fo=im qen senfireht waery

(C) S9! T (D) Hfee afea

Chinese Parliament is known as
(A) National People’s Congress (B) National Assembly

(C) Diet (D) Shora

=t TE =l hEd # -

(A) A Ted HH (B) e VHTEE

(C) =me (D) =M

The Council of Ministers of Indian Union is collectively responsible to the
(A) President (B) Prime Minister

(C) Rajya Sabha (D) None of these

WL 91 T Hofl-aRug amfEeh a0 STRER &

(A) Tgufe =l (B) g Tt &b

(C) T GUT ! (D) T A IS &

Who has the right to seek advisory opinion of the Supreme Court of India, on
any question of law ?

(A) Prime Minister (B) President

(C) Any Judge of the High Court (D) All of these

ST Fadft fopet oft w57 o foTu R o Hat= <o § WHe geime I & &1
TR fohdl 3 2

(A) JIHHA (B) Trgufa
(C) 3= =T 1 18 off =gl (D) o &t
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150.

151.

152.

153.

154.

15S.

Which of the following States/Union Territory has a Legislative Assembly
consisting of only 30 members ?

(A) Puducherry (B) Mizoram (C) Goa (D) All of these
= 4 O Topm U= /9" Tet <ht forema share? 30 et shi &1 & 2

(A) gg=d (B) fosiH (C) (D) ¥ |
The fuel used in atomic power reactors in India mainly

(A) Plutonium — 239 (B) Enriched Uranium

(C) Deuterium (D) None of these

WL H ICHTY] 7Tk A1 H J&T 9 8 T S9 ¢ -

(A) wIeI=m - 239 (B) SR Fm

(C) sefem (D) ¥ & g &

Bronze is a/an

(A) Element (B) Chemical compound

(C) Alloy (D) None of these

S () &, Th

(A) a= (B) U@ AifiTeh

(C) fasremg (D) T & P T

A fat soluble Vitamin is

(A) VitaminB (B) Vitamin C (C) VitaminD (D) None of these
91 | gereiia foerfiq 8
(A) faafim-B B) fwefim-c  (©) fewefim-D (D) s @+ &

Artificial dialysis is recommended in malfunctioning of

(A) Pancreas (B) Heart (C) Gall Bladder (D) None of these
fopareht arfsrameficrar # i srenfofam srEfm @ 2
(A) s=E (B) wed (€) fmm= (D) A HE T

If the letters of the word ‘VERTICAL’ are arranged alphabetically, how many
letters will remain at the same position ?

(A) One (B) Two (C) Three (D) None of these
If¢ I1e¢ “VERTICAL’ % 3781 %! JUMHTCT o TTHR W1 AW, @ foha 378 I
I W ?

(A) T (B) (C) (D) T H hIg TE
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156. If ‘MUSICAL’ is written as ‘KWQKACIJ’, then how can ‘SPRINKLE’ be
written ?
Ifg ‘MUSICAL’ &1 ‘KWQKACJ’ forat S, dt ‘SPRINKLE’ & ferar Strarm 2
(A) QRBKCNIG (B) QNPGLIJC (C) QRPKLMIG (D) URTKPMNG

157. The hot spring of Tatapani is situated in which of the following districts of

H.P.?
(A) Shimla (B) Lahaul & Spiti
(C) Kinnaur (D) Mandi

AT 61 70 9 hl i) e Yen s i d a ferg v 9 2 2
(A) Rrgen (B) w@-gfifa (C) TR (D) W&l

158. Chandra Glacier falls in which district of H.P. ?

(A) Lahaul & Spiti (B) Chamba

(C) Kullu (D) Kangra

<2 e gaea Tevr s fra S A uear 2 2

(A) @eE-wfifd (B) =@ (C) FHodl, (D) TS
159. In which year was Himachal Pradesh made a Union Territory ?

form oY fEAT=rel Yo Uk Y e 41 2

(A) 1948 (B) 1951 (C) 1954 (D) 1956
160. Which of the following festivals of H.P. is celebrated in the month of Chaitra ?

(A) Rallipuyja (B) Gungnaumi (C) Bishu (D) Khogal

e 1 O femaet Te o1 o6l 91 AR 9 HIg § 7T ST g 2

(A) Tooit gal (B) T aHt (C) feomp (D) @rTe

161. Which of the following is the first country to successfully land robotic rovers
on an asteroid Ryugu recently ?
(A) USA (B) China (C) Japan (D) Russia
BT 1 H, T Ioh1-TUg W S ek bl Thetargdes AR aTell Yo ¢ fe
YHAATR?

(A) 4.UH.T. (B) =+ (C) UM (D) &4

162. India has made alliance recently with which country to eliminate TB ?
(A) USA (B) Israel (C) Germany (D) Australia
A&, (TB) 37 o ToTT 811 & § R A fohg <91 o |1 Fweitan foba 2

(A) J.TE.T, (B) SRIEA (C) (D) arreferan
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163.

164.

165.

166.

167.

168.

169.

170.

Who has won the 2018 Presidential Election of Maldives ?
(A) Mohamed Waheed Hassan (B) Abdulla Yameen

(C) Ibrahim Mohamed Solih (D) Mohamed Nasheed

2018 < HTGE TgATd IS Tehe ST 2

(A) TIEHE ATEIG BEH (B) IrsgeaTl ATHH

(C) 3siifeH HigHe Hicils (D) HigHg rHig

Who has won the Women’s Singles 2018 China Open Badminton title ?
(A) Akane Yamaguchi (B) Carolina Marin

(C) P.V.Sindhu (D) Nozomi Okuhara

T RTA-2018 = 3T SSfived erged fehem St 2

(A) STRHT AN (B) ohUifetaT 6iH

(C) drah. fay (D) St b

Meaning of the idiom ‘To bank upon’ is
(A) to hope (B) todepend (C) toevolve (D) to harness

She comes a family which has a passion reading books.
(A) from, in (B) off, for (C) of, for (D) of,in
Antonym of the word ‘Extant’ is

(A) existing (B) defunct (C) employed (D) surviving

‘3l B YT 99T §
(A) At (B) 3R (C) T (D) aTfdieh

T -Tuft” I STeg T Y 7

(A) =i, T (B) T, &ft (C) i, s5m (D) ==, g
TSI § 9HE 8

(A) 5% (B) F=wRliwE (C) wglifle (D) dcged
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